
Subject: error
Posted by mads on Wed, 06 Aug 2003 03:45:24 GMT
View Forum Message <> Reply to Message

Hi all,
        I get the following error when i compile the code in this segment :
"
m = {mcr, name:'kuusk2', leafOpticsModel2:'prospect', nComponents2:4, $
 L2:0, sl2:0.15, clz2:1.0, eln2:2.0, thm2:35.0, slw2:90.0, nCoef2:0.9, $
 nCellLayers:1.5, c12:0.43, c12FName:'chlorop3.dat', c22:80.0,
c22FName:'waterp3.dat', $
 c32:0.6, c32FName:'drymatter.dat', c42:0.2, c42FName:'drymatter.dat', $
 leafOpticsModel:'liberty', nComponents1:5, L1:0.5, sl1:0.15, clz1:1.0, $
 eln1:3.0, thm1:15.0, SLW1:80.5, nCoef1:0.9, nCellLayers:1.25, dCell1:80.0,
$
 iCellAir1:0.045, c11:0.68, c11FName:'chlorop3.dat', c21:101.0,
c21FName:'waterp3.dat', $
 c31:7.6, c31FName:'drymatter.dat', c41:0.6, c41FName:'brownpigm.dat', $
 c51:250.0, c51FName:'base.dat', th1, 37.3, phi:0.0, bAng:0.12, skyl:0.0, $
 rsli:0.29, thsSoil:[0.130, 0.06, -0.04, 45.0], alpl:'angstr.dat',
price:'price.dat', $
 mu:'refrind.dat', th2:0.0, wlMin:400.0, wlMax:2400, dwl:5.0, lmbda:486.0, $
 thMin:-85.0, thMax:85.0, dth:3.0, lspec:'f', lad:'t'}

fmt = '(a, /, i2, /, 3(f5.2, 2x), /, 2(2(f3.0, 2x), /), f3.1, /, 4(f5.2, 2x,
a, /),$
 a, /, i2, /, 3(f4.2, 2x), /, 2(2(f4.1, 2x), /), 3(f6.3, 2x), /, 5(f6.2, 2x,
a, /), $
 4(5.2, 2x), /, 5(7.3, 2x), /, 3(a, /), 2(4(5.0, 2x), /), 2(a,2x), /)'
"
ERROR:

thMin:-85.0, thMax:85.0, dth:3.0, lspec:'f', lad:'t'}
                                                      ^
% Conflicting or duplicate structure tag definition: <missing>.
  At: /home/madhu/thesiswork/thesis.pro, Line 17

 thMin:-85.0, thMax:85.0, dth:3.0, lspec:'f', lad:'t'}
                                                      ^
% Conflicting or duplicate structure tag definition: <missing>.
  At: /home/madhu/thesiswork/thesis.pro, Line 17

 a, /, i2, /, 3(f4.2, 2x), /, 2(2(f4.1, 2x), /), 3(f6.3, 2x), /, 5(f6.2, 2x,
a, /), $
      ^
% Syntax error.
  At: /home/madhu/thesiswork/thesis.pro, Line 20
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What is the problem?
Thanks
M
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